GOES X-ray Flux

13 Apr 2015 (DOY

Time (UT)

@ X
S M
g c e e
3 8
A
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. ESP 0-7 nm
€ Sk ]
> | ]
€ 2
w I!b-El o
m ‘_I Al s Jﬁ
..w - .
£ ol ]
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
—~ m0|uw nm
e 2.5F E
~ E 3
= 2.0F =
£k ' 3
o 1.5F 3
(8] E =
C e 3
2 1.0E =
S E E
m 0.5E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N Fe XX 13.28 nm (log T=6.97)
t 2.25[0 7
> .
€ 1.75F .
o C i
€ 1.25F .
..w - .
£ 0.75L .
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. Fe XVIIl 9.39 nm (log T=6.81)
t 2.25[0 7
> .
€ 1.75F .
o C i
€ 1.25F .
..w - .
£ 0.75L .
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

= Fe XVI 33.54 nm (log T=6.43)
< 0.068[ ]
> r .
€ 0.066 .
o r ]
£ 0064 .
S C ]
£ 0.062L ]
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N Fe XIV 21.13 nm (log T=6.27)
t 2.25[0 7
> .
€ 1.75F .
o r ]
£ 1.25f .
.w - -
£ 07sL ]
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N Fe XIl 19.51 nm (log T=6.13)
t 2.25[0 7
> .
€ 1.75F .
o C ]
£ 1.25f .
3 C ]
£ 07sL ]
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. Fe IX 17.11 nm (log T=5.81)
t 2.25[0 7
> .
€ 1.75F .
o C ]
£ 1.25f .
5 C ]
£ 07sL N
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N He Il 30.38 nm (log T=4.70)
t 2.25[0 7
> .
€ 1.75F .
o r ]
£ 1.25f .
5 C ]
£ 07sL N
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?
(mW/mm) Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?)

Irradiance (mW/m?)

A ESP 0—7 nm
\ 3 —]
= -
E2 =
9 1& -‘Q_NLWHA Pl Ao - . —~ =
c E
5 oF E
§’ 18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
- Time (UT)
ESP 17.1 nm
0.85F =
0.80 —— e J@—-—-ﬁ
0.75 Eﬁ -
0.70E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
ESP 25.7 nm

18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
ESP 30.4 nm
0.96F =
0.94F A + =
0.92 HMWW
0.90 -
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
ESP 36.6 nm
1.25
0.75
0.25{
-0.25
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS—P 121.6 nm
8.07F 3
7.93F £ =
7.80F M E
= \ =
7.67E 3
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Time (UT)

ks Fe XX 13.28 nm (log T=6.97)
> 2.25F =
E175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ Fe XX 72.16 nm (log T=6.96)
= 0.0011F Tl 3
E 0.0010F # =
$ 0.0009 F ST s
-2 0.0008E il =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XX 56.79 nm (log T=6.96)
> 1.52x107°F —r E
E 1.50x107F =
S 1.48x107°F =
2 1.46x107°E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XIX 59.22 nm (log T=6.89)
> 8.6x107*E =
E 8.4x10™E -
8 8.2x107™F =
2 8.0x10™*E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe XVIIl 9.39 nm (log T=6.81)
> 2.25F =
E175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e S XIV 44.57 nm (log T=6.44)
= 2.05x107°FE " =
E 2.00x107F 8 3
¢ 1.95x107°F Fo E
2 1.90x107°E *. 17 =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XVI 36.08 nm (log T=6.43)
> 0.0447F . =
E 0.0433F AP R =
$ 0.0420F =
2 0.0407E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£
= 0.068F E
E 0.066F =
S 0.064F =
£ 0.062E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



Irradiance (mW/m?)

ks Fe XV 28.42 nm (log T=6.30)
> 2.25F =
E 175E =
[N - 3
0 1.25
Q = =
< = =
2 075k -
e
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 6:
- Time (UT)
k= Si XIl 49.94 nm (log T=6.29)
> 0.0268F =
E 0.0263F M =
) - 3
9 0.0258 4
= - -
2 0.0253E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 6:
- Time (UT)
Si Xl 52.10 nm (log T=6.28)
0.00947 £ 3
0.00933 F =
0.00920 =
0.00907 E -
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 6:
Time (UT)
ks Fe XIV 21.13 nm (log T=6.27)
> 2.25F =
E 175E =
[N - 3
0 1.25
Q = =
< = =
2 075k -
e
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 6:
- Time (UT)
ks Fe Xl 20.20 nm (log T=6.19)
> 2.25F =
E 175E =
[N - 3
0 1.25
Q = =
< = =
2 075k -
e
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 6:
- Time (UT)
E Fe XIl 19.51 nm (log T=6.13)
> 2.25F =
E 175E =
[N - 3
0 1.25
Q = =
< = =
2 075k -
e
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 6:
- Time (UT)
£ Mg X 60.98 nm (log T=6.10)
> 0.0165F =
E 00160 =
) - 3
9 0.0155
0 = =
s = =
2 0.0150E =
°
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 6:
- Time (UT)
ks Fe XI 18.04 nm (log T=6.07)
> 2.25F =
E 175E =
8 1.25F =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 6:

Time (UT)



Time (UT)

£ Mg X 62.49 nm (log T=6.05)
= 0.0159F Tk 3
E 0.0157F =
$ 0.0155F =
2 0.0153E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= Mg IX 36.81 nm (log T=5.99)
> 0.06583F =
E 0.06517F =
8 0.06450 F =
2 0.06383 L =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe X 17.72 nm (log T=5.99)
> 2.25F =
E 175 =
8 1.25F =
< = =
2 075k =
e
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ Ne VIl 77.04 nm (log T=5.81)
> 0.0155F =
E 0.0150F =
S 0.0145F =
2 0.0140E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Fe IX 17.11 nm (log T=5.81)
> 2.25F =
E 175 =
8 1.25F =
< = =
2 075k =
e
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Ne VIl 46.52 nm (log T=5.71)
> 0.01670F v L =
E 0.01644F s =
8 0.01617F A S E
-2 0.01590E a3 =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Fe VIl 13.12 nm (log T=5.57)
> 2.25F =
E 175 =
8 1.25F =
< = =
2 075k =
e
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
'E O VI 103.19 nm (log T=5.47)
> 0.083F . 3
E 0077F =
8 0.073F 44 =
2 0.068E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



(mW/m?)

Irradiance

£ O V 62.97 nm (log T=5.37)
> 0.0627F =
E 0.0613F o =
S 0.0600 F M =
-2 0.0587E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ O IV 79.02 nm (log T=5.19)
> 0.0140F =
E 0.0135F =
$ 0.0130F =
2 0.0125E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E O IV 55.44 nm (log T=5.19)
> 0.0275F T F 3
E 0.0270F MES.. 3
[} - =
© 0.0265F M =
-2 0.0260E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E O Il 59.96 nm (log T=4.92)
> 0.0052F ; 3
E 0.0051F =
$ 0.0050 F =
-2 0.0049E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
O Il 52.58 nm (log T=4.92)
2.783x107°F =
2.717x1073F -
2.650x107° f =
2.583x107°E A =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
E C 111 97.70 nm (log T=4.84)
> 0.19F =
£ o18F Pt =
2 0.16E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= He Il 25.63 nm (log T=4.75)
> 2.25F =
E 175 =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= He Il 30.38 nm (log T=4.70)
> 2.25F =
E 175 =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



(mw/m?)

O Il 83.55 nm (log T=4.52)

0.03533F a— 3
0.03467 F - 3
8 0.03400 F =
2 0.03333E =
2 18:00 22:00 02:00 06:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E O Il 71.85 nm (log T=4.48)
> 2.45x107°F Wﬂ“::* 3
E 2.35x107F Xl *’5 =
S 2.25x107F i E
2 2.15x107°E i =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ He | 58.43 nm (log T=4.16)
> 0.061F =
E 0.059F 2 =
[ - =
© 0.057F &hf w -
£ 0.055E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E H 1 102.57 nm (log T=3.84)
> 0.095F =
E 0.093F E
S 0.091F =
2 0.089E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
3 H197.25 nm (log T=3.84)
S 0.0205F E =
E 0.0200F b 25" =
[} - 4 =
8 00195: :!_-4{'#+++ 'f; =
2 0.0190E + =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= H 1 94.97 nm (log T=3.84)
> 0.0122F =
E o.0m18E =
S 0.0112F =
2 0.0107E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ He | 53.70 nm (log T=3.84)
> 0.0063F =
E 0.0062F =
$ 0.0061F =
-2 0.0060E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?) Irradiance (mW/m?)

Irradiance (mW/m?)

AlA 94 Channel

225F ]
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 131 Channel
225F ]
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 171 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlIA 193 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 211 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlA 304 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlIA 335 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?)

Irradiance (mW/m?)

MEGS ESP 17.1 nm

2.25F =
1.75F -
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 25.7 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 30.4 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 36.6 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Time (UT)

NE MEGS—A1
= 1.25 -y -
E o075F =
S 025F =
— —— —
2 -025E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
NE MEGS—A2
= 1.25 -y -
E o075F =
S 025F =
— —— —
2 -025E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E MEGS—B Short
> 0.380F T =
E 0.375F : 3
= . =
8 0.370F =
£ 0.365E - =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E MEGS—B Middle
S 0.235F = E
E 0.230F 3 e idet =
8 0.225F e ]
£ 0.220E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E MEGS-B Long
> 0.94F T 3
E 0.92F =
§ 0.90F £ -
2 0.88E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



